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B S  AFH - RERERKHEE R AT £t SHTHET (HErr 2 — HiN)
BIEAE: bFFE BIERER: GLN-254 (R#ET 4 —~7—7 —(#K))
RIEEAE: 1 RRHMED 1 B SEEIEAN0. 04ppmA» 50. 06ppmE TO Y — U WIUTZNU T THLH Z &,
(ERAEFM) 1 B FEEOFRII8UEA30. 06ppmZ il X 722 &
X 7 1EEfEEA B EHEH HEHEHLD HEHEH
A% | xR B &= lE RIEME | @zfr-psmske | BalzBH%e BA=-H#& 10.06ppmELT® sz
ZDES ZTDEE ZTDEE B#EzDEE
£ A
B B ] ppm ppm ppm ppm e % B % B % B %
25 4 30 717 0.005 0.026 0.012 0.002 0 0.0 0 0.0 0 0.0 0 0.0
(20204F) 5 31 739 0.005 0.018 0.011 0.002 0 0.0 0 0.0 0 0.0 0 0.0
6 30 716 0.006 0.018 0.010 0.003 0 0.0 0 0.0 0 0.0 0 0.0
7 31 740 0.006 0.019 0.010 0.003 0 0.0 0 0.0 0 0.0 0 0.0
8 31 740 0.006 0.018 0.009 0.003 0 0.0 0 0.0 0 0.0 0 0.0
9 30 715 0.005 0.020 0.008 0.002 0 0.0 0 0.0 0 0.0 0 0.0
10 31 740 0.006 0.029 0.012 0.002 0 0.0 0 0.0 0 0.0 0 0.0
11 30 717 0.009 0.042 0.019 0.003 0 0.0 0 0.0 0 0.0 0 0.0
12 31 741 0.011 0.043 0.021 0.002 0 0.0 0 0.0 0 0.0 0 0.0
SH3E 1 31 738 0.010 0.042 0.020 0.003 0 0.0 0 0.0 0 0.0 0 0.0
(20214) 2 28 667 0.009 0.051 0.018 0.004 0 0.0 0 0.0 0 0.0 0 0.0
3 31 741 0.009 0.045 0.021 0.002 0 0.0 0 0.0 0 0.0 0 0.0
B £ 365 8711 ]0.007 0.051 0.021 0.002 0 0.0 0 0.0 0 0.0 0 0.0
BEHED
FH98%1E (ppm) 0.016
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IRIBEAE:  1HFMMED 1 A FEEIED30. 04ppm#A» 50. 06ppmE THO Y — U WIXIFZNLL FTH D Z &,
(ERREHE) 1 B FERIME O 9I8WMEA30. 06ppm4 Bk % 722 &
X % 1B {EAY B FEHEH B EHEH BHFEHEHL
o 1BR00E | BT | BEwE | (HPE L R :
Jﬁx)]{ﬁ'lﬂi A e | Ty fE o o o 0.1ppm% 0.04ppm% 0.06ppm% 0.04ppmEl £
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£ A
B B ] ppm ppm ppm ppm B ] % =] % =] % B %
SH2E 4 30 718 0.010 0.034 0.022 0.003 0 0.0 0 0.0 0 0.0 0 0.0
(20204F) 5 31 740 0.010 0.027 0.017 0.004 0 0.0 0 0.0 0 0.0 0 0.0
6 30 717 0.012 0.043 0.019 0.005 0 0.0 0 0.0 0 0.0 0 0.0
7 31 740 0.011 0.031 0.018 0.003 0 0.0 0 0.0 0 0.0 0 0.0
8 31 739 0.010 0.026 0.017 0.004 0 0.0 0 0.0 0 0.0 0 0.0
9 30 717 0.010 0.029 0.015 0.005 0 0.0 0 0.0 0 0.0 0 0.0
10 31 740 0.011 0.028 0.015 0.005 0 0.0 0 0.0 0 0.0 0 0.0
11 30 716 0.013 0.038 0.024 0.005 0 0.0 0 0.0 0 0.0 0 0.0
12 31 742 0.014 0.039 0.027 0.003 0 0.0 0 0.0 0 0.0 0 0.0
SH3E 1 31 739 0.014 0.036 0.026 0.004 0 0.0 0 0.0 0 0.0 0 0.0
(20214E) 2 28 668 0.013 0.039 0.024 0.005 0 0.0 0 0.0 0 0.0 0 0.0
3 31 740 0.013 0.040 0.026 0.004 0 0.0 0 0.0 0 0.0 0 0.0
B £ 365 8716 |0.012 0.043 0.027 0.003 0 0.0 0 0.0 0 0.0 0 0.0
BHEHED
FH98%(E 0.023
(ppm)
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